Kiz Mobility
2

CRA45 Seat Frame

ltem Number  Part Number  Description Quantity
la,2,4,7,9 116363 Seat Tube Assy, Sht 1
1b,2,4,7,9 116364 Seat Tube Assy, Med 1
1c, 2,4,7,9 116365 Seat Tube Assy, Lng 1
la 112446 Short Seat Tube 2
1b 112447 Medium Seat Tube 2
1c 112448 Long Seat Tube 2
2 112449 Seat Tube Plug 2
3 112491 Saddle, Dual, 1" x 2.0SP 4

08-06-2025




[tem Number  Part Number  Description Quantity

4 000336 Latch Block 2
5 107139 M6 x 70, BHCS, P/THD BLZ 4
6 101472 M6 x 45 SHCS BLK ZC 2
7 101819 M6 x 40 FHCS Blk Zn 2
8 100746 M6 Flat Washer Blk Zn 4
9 100658 M6 Nylock Nut Blk Zn 6

08-06-2025



